
TK95020 - 6 Gallon Spray Caddy

6-18-15

# Part # Qty Description

1 ST43020 1 Caddy Frame

2 ST43865 1 Handle

3 ST43866 1 Battery Strap

4 ST43867 2 Wheel

5 ST43868 1 Battery

6 ST43022 1 6 Gallon Tank

7 ST43182 2 3/8" Straight Barbed Fitting

8 ST43183 1 3/8NPT x 3/8 Barbed, Elbow

9 ST43238 1 Spray Wand w/ Tip

10 ST43258 1 Sump Strainer 3/8"

11 ST43287 1 Holder for Spray Wand

# Part # Qty Description

12 ST43869 1 Pump Shurflo 100 PSI

13 ST43870 2 Shaft Cap

14 ST65142 2 8-32 x 5/8 Bolt

15 ST65041 1 #10-24 Keps Nut

16 ST65076 1 #10-24 x 3/4" Truss Head

17 ST65144 2 5/16 x 1-1/2 Hex Bolt

18 ST65008 2 5/16 Flange Nut

19 ST65143 2 Wing Nut #6-32

- ST43286 8 3/8" Hose

- ST43871 1 Battery Float Charger

- 1 Wire Harness

Revised: 

10

2

6

915 11

16

17

7

12

18

8

13

4

19

19

3
5

13

4

14

1
7


